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Solutions to Example 3:
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1/3 Agraph represents a function if and only if every T-value on the graph corresponds 1o exaetly
one gvalue.

o put it another way, i we can find an Z-value with more than one corresponding g-value,
then the graph doesn't represent a function.

Based on this pincpl, does this graph represent  unction?
2/3 ot Forinstance the Z-value 1 corresponds t both the -value 5 and the g-value 5.

There are more cases where an Z-value has more than one corresponding g-value, but even a
single case s enough to determine that the graph doesri represent a function.
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Does the graph represent a function?
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Choose 1 answer:
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1/3 Agraph represents a function if and only if every T-value on the graph corresponds 1o exaetly
one gvalue.

o put it another way, i we can find an Z-value with more than one corresponding g-value,
then the graph doesn't represent a function.

Based on this princile. does this graph representa function?

2/3  No!The Z-value 7 corresponds to both the g-value 6 and the g-value —T.

y ~

765432 123456!
2 1

3 H

-4 1

5 1

% .

. - o

i1




image3.png
Does the graph represent a function?
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Choose 1 answer:
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1/2  Agraph represents a function if and only if every Z-value on the graph corresponds to exactly.
one gvalue.

o put it another way, i we can find an Z-value with more than one corresponding g-value,
then the graph doesn't represent a function.

Based on this princile. does this graph representa function?

2/2 | Yest Every T-value has exactly one y-value that corresponds to it, so the graph represents
function.
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Does the graph represent a function?
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Choose 1 answer:




